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What Dld the Ape Think of the Grape’s House?

For each exercise, draw the-line indicated and write its equation. Find your answer in the
answer section and notice the two letters next to it. Print these letters in the two boxes at the
bottom of the page that contain the number of that exercise.
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OBJECTIVE 5—i: To find an equation of a line
154  ©1989 Creative Publications _ given two points on the line (using the graph).




Mathematics 9

Finding Equations of Lines
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Mathematics 9

Naming Equations of Lines Date:
Place the letter of the correctly matching line in the box beside each equation.
1. 2.
i y=-x+2 i y=x-4
ii y=3x+2 ii y=—1x-4
iii y=-2x+2 iii y=x+4
iv y=2x+2 iv y:_%x+4
v y=2 v y=x
vi y=3x+2 vi y=—%x
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3. 4.
i y=%x+3 i =2
ii y=—2x-1 ii y=-x
iii y=2x ii y=2
iv x=-3 iv x=2
v =—%x~1 v y=4
vi y=3 vi y=x
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Mathematics 9

Date

Plot & Name the Line

In each question, graph the line described then determine its equation and write it in the space provided.
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Mathematics 9

Plot & Name the Line Date:
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10. The line with y-intercept —5 and
parallel to the x-axis.

11. The line through the points
(-3,5) and (-3,-2).

12. The line passing through the point
(-7,2) with slope %
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'13. The line with slope % and

14. The line with slope % passing

15. The line with slope —6 passing

x-intercept —6. through the point (—5,-7). through the point (1,1).
Answers:

1. y=3x-1 2. y=4x-4 3. y=1ix—4

4, y=-x+1 5. y=—3x 6. y=—2x+4

7. y=32x+6 8. y=2x-2 9. y=ix+3

10. y=-5 11. x=-3 12. y=2x+4

13. y=%x+8 14. y=1x-6 15. y=—6x+7
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